
s|=;+= sfo{qmd uf=kf=

1 sd{rf/Lx?sf nflu ljljw Ifdtf ljsf; tflnddf ;xeflutf lhNnf :t/ 40000

2 s[ifs tyf Joj;foLnfO{ l;k ljsf; tflnd 40000

3 pkrf/ ;]jf sfo{qmd 90000

4 Olk*]lds tyf cfS;lds /f]u lgoGq)f 60000

5 vf]k ;]jf 100000

6 EoflS;g]^/ vr{ 100000

7 kz' :jf:Yo lzlj/ 160000

8 s[=u=/]lkm| v/Lb 40000

9 al*{hf] v/Lb 40000

10 ;fem]bf/Ldf Rofkms^/ d]lzg v/Lb 160000

11 ;fem]bf/Ldf df;' k;n ;'wf/ 50000

12 Aof*sf] af]sf ljt/)f 160000

13 Aof*sf] lj/ ljt/)f 16000

14 ;d'x u&g 10000

15 k/lhjL lgoGq)f 10000

16 lxpb] #fF;sf] lap ljt/)f 50000

17 av]{ #fF;sf] lap ljt/)f 50000

18 cg'udg 45000

19 2000 s[=u=sfo{qmd ;+rfng ug{ cfjZos nf]lh:^s ;kf]^ 150000

hDdf 1371000

kz' k+IfL ljsf; sfo{qmdx? 


